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clc
clear all
close all
a=input('pls inter your numbers:');
[r,c]l=size(a);
if (r==1 & c==1) | r~=1

error ('you dont inter your numbers in correct form')
end
for i=l:size(a,2)

if a(1,i)<=5

a(l,i)=9;

elseif a(l,i)>5 & a(l,i)<=8



a(l,i)=9.5;
elseif a(1,i)>8 & a(1l,i)<=10
a(l,i)=10;
elseif a(1,i)>10 & a(l,i)<=15
a(l,i)=a(1,i)+1;
elseif a(l,i)>15 & a(l,i)<=19.5
a(l,i)=a(1,i)+.5;
end
end
disp('tashih: ')

disp(a)
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clc
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clear all
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close all

oe

a=input('pls inter your numbers:')
% [r,c]l=size(a);

if (r==1 & c==1) | r~=1

oe

oPe

error ('you dont inter your numbers in correct form')

oP

end

for i=l:size(a,2)

oe

% b=a(l,1i);
% if b<=5
% b=9;

oP

elseif b>5 & b<=8



oP

b=9.5;

oP

elseif b>8 & b<1l0

% b=10;

% elseif b>=10 & b<=15
% b=b+1;

% else

% b=b+.5;

% end

% d(1,i)=b;

% end

oP

disp ('numbers is');

oe

disp(d) ;
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clc

clear all
%decimal 2 binary
n=input('n');
tn=n;

adad=0;i=0;

while n~=0
re=rem(n,2) ;
adad=adad+10%i*re;
n=floor (n/2) ;
i=i+l;



end
fprintf ('the number is %g and the binary transmision is
$f',tn,adad)
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base 2: 1001

base 10: 9

clc

clear all
num=input('n') ;
NUM=num

tn=0;

i=0;

while (num>0)
dig=rem (num,10) ;
if dig<2

tn=tn+2%i*dig;

i=i+l;

num=floor (num/10) ;
else

disp('not valid num')
break
end

end
fprintf('base 2: %g \n base 10: %g',6 NUM, tn)
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D) e b BATLEBT Watich this e, see Demud, or read Getting Sared *
2%2=4
2%3mp
2*4=8
2%5=10
2*6=12
2+ Tmlq
2*8=16
2%*omlBp
2*10=20 1
3%2mp
3*3=9
3*4ml2
3*5=15
3*oml2
you have a mistake and emtiaz is
13

clc
clear all
emt=0;
for i=2:10
for j=2:10
fprintf ('%g*%g’',1,3)
m=input('=") ;
if m~=i*j
break
else
emt=emt+1;
end

end

if m~=i*j
break

end

end
disp('you have a mistake and emtiaz is')
disp (emt)



